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BEREET A1 0 0. 0. 0. 0.0 0.0 0.0 0.0
it 0 TAEEEEK 0. 0.0 TEEEHK 0.0 0.0 0.0
HERREES 1B 7Y 1gHurY gLy
=28 B2 By EZ: 2510 HER (A) e (B) B2 FEHKE HER (A) e (B) e EZ: 2510 e (A) e (B)
EBBETFH 1 E] 0. 0. 0.5 1 0. 0.5 0.0 0.0 0.0
PRETEE 1 E] 0. 0. 0.5 0. 0.0 1 0.5 0.5 0.5
R RN 1 E] 0. 0. 0.5 1 0. 0.5 0.0 0.0 0.0
BEREET A 1HE 0 E] 0. 0. 0. 0.0 0.0 0.0 0.0
it 3 TAEEEEK 2. 2.0 TEEEHK 1.0 1.0 1.0




it

HEEBRILO2TOHENOITEEEH (A - H)

EBETY WEBEES
EEHE HE (A) HET (B) TEUBHES | 2 TOHEMEONALEROH
0.0 0.0 0.0 1 0.0
0.0 0.0 0.0 2 0.0
0.0 0.0 0.0 3 0.0
0.0 0.0 0.0 4 0.0
| TEEEHK 0.0 0.0 0.0
IEHALY BITSHERS
EEHE HE (A) HET (B) TEEBHES | 2 TOHRMEONALEROH
0.0 0.0 0.0 1 0.0
0.0 0.0 0.0 2 0.0
0.0 0.0 0.0 3 0.0
0.0 0.0 0.0 4 0.0
| TEEEHK 0.0 0.0 0.0
IEHARY MEXS
I E R B AT TEUBHES | 2 TOHMEONALEROH
0.0 0.0 0.0 1 0.0
0.0 0.0 0.0 2 0.0
0.0 0.0 0.0 3 0.0
0.0 0.0 0.0 4 0.0
| TEEEHK 0.0 0.0 0.0
IEHALY BEEB
EEHE HE (A) HET (B) TEUBHES | 2 TOHEMEONALEROH
0.0 0.0 0.0 1 0.0
0.0 0.0 0.0 2 0.0
0.0 0.0 0.0 3 0.0
0.0 0.0 0.0 4 0.0
| TEEEHK 0.0 0.0 0.0
IEHARY HEfEREES
EEHE HE (A) HET (B) TEUBHES | 2 TOHMEONALEROH
0.5 0.5 0.5 1 6.0
0.5 0.5 0.5 2 3.0
0.5 0.5 0.5 3 0.0
0.0 0.0 0.0 4 0.0
| TEEEHK 3.0 3.0 3.0
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